
EXAM FM QUESTIONS OF THE WEEK
S. Broverman, 2006

Week of October 9/06

A portfolio contains the following two bonds

    Bond 1   Bond 2
 Face amount  $10,000  $10,000
 Term   20 years  26 years
 Coupon amount $800   None
 Coupon frequency Annually  N/A
 Modified duration 9.82 years 
 Interest rate  8% per year  8% per year
    compounded annually compounded annually
Find the modified duration of the two bond portfolio.

The solution can be found below.



Week of October 9/06 - Solution
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Bond 2 is a zero-coupon bond.  The modified duration of a zero-coupon bond is   , where 8@ 8
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